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R | & HX = BEAM [N 6 RN 7 AR
&5 | K5 e FM) | EEE | R
1 &P IO B3 T B4 24 1,596 100. 0 100. 0
2 e i 11 HIRAT H 13526 1,015 100. 0 100. 0
3 I 4T H2%12 645 100. 0 100. 0
4 SRt ‘= IR3T A 3F 1354 840 100. 0 100. 0
5 I BT H 1354 777 100. 0 100. 0
6 SRt P 5T B5% 938 100. 0 100. 0
7 BRI - ZABTIT H9%E9 395 100. 0 100. 0
8 P s T AT 14 609 100. 0 100. 0
9 P B E3T B3% 17 267 100. 0 100. 0
10 P PS5 T Ho%ES 612 100. 0 100. 0
11 e W E3T H 14%2944 391 100.0 100.0
12 P PE 3T H19710 574 100. 0 100. 0
13 P P AT H2%23 693 100. 0 100. 0
14 P W ELT B11% 1441 294 100. 0 100. 0
15 e P E2T B 14%S8 467 100. 0 100. 0
16 P PS4 T H103E3 314 100. 0 100. 0
17 P P ESAT H2%13 506 100. 0 100. 0
18 ] P 4T H4E 1144 557 100.0 100. 0
19 ] P 6 T H6%E4 392 100. 0 100. 0
20 ] a6 T H1%10 352 100.0 100. 0
21 P =H4T B33%12 158 100. 0 100. 0
22 L +=H3T H146%6 186 100. 0 100. 0
23 P +=H2T B34 10 282 100. 0 100. 0
24 R +=ARTIT H 154 245 100.0 100.0
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& X5y (1) EIES EIES
25 T = ARET1T H 872 531 100. 0 100. 0
26 s BALE 1T A 9% 1641 226 100. 0 100. 0
27 7 FrALEF 1T B 108 114+ 395 100.0 100. 0
28 P T =ARETTT H 1979 205 100. 0 100. 0
29 T - =ARET1T H 9% 3144 388 100. 0 100. 0
30 =] - ZARETLT B 16534+ 242 100. 0 100. 0
31 T = ARHT2 T H 2092 313 100. 0 100. 0
32 P + = ARHT2T H8%ES 207 100. 0 100. 0
33 L P + =4 H2T H20%274F 231 100. 0 100. 0
34 P BA2T H30%6 205 100. 0 100.0
35 e —HRIELT H28% 144 135 100. 0 100. 0
36 P P =[E3 T H1515% 181 100. 0 100. 0
37 e ZEANT3T H 3873 210 100. 0 100. 0
38 P PEE 2T B 7549 435 100. 0 100. 0
39 P HH4T H3E 1L 424 100. 0 100. 0
40 P HE[E2T H 3874 504 100. 0 100. 0
41 e BF2T Hb5% 1544 186 100.0 100.0
42 ] BIFH2T H3%22 220 100.0 100. 0
43 e 1T H19%s4 609 100. 0 100. 0
44 ] PEEFHIT B7%16 527 100.0 100. 0
45 d=gES FEHELT H124%1 138 100. 0 100. 0
46 Wl W ETT H11%ES 280 100.0 100. 0
47 L AN HAT H543%1 169 100. 0 100. 0
48 T ANNH3T H29%1 184 100. 0 100. 0
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& X5y (1) EIES B
49 L ARNNH2T H 2473 170 100. 0 100. 0
50 E=gEs 2T He5% 176 100. 0 100.0
51 L +=HI1T H2%10 170 100. 0 100. 0
52 Leff A)NPE2T H77%1 166 100. 0 100. 0
53 T ANPEST H263% 173 100. 0 100. 0
54 E=gEs Bphg 1T B9 12 151 100. 0 100. 0
55 L PP 1T E 84% 55k 171 100. 0 100. 0
56 e +=H4T B3T3 152 100. 0 100. 0
57 T + =3 T H143%18 166 100. 0 100. 0
58 e + =R AH3 T Ho%4 123 100. 0 100. 0
59 ek + =4 B2 H38%4 175 100. 0 100. 0
60 e +=EA BT H5%21 189 100. 0 100. 0
61 ek FribEF2 T B 43T 172 100. 0 100. 0
62 SN Fri®r3 T H53%15 170 100. 0 100. 0
63 ek AT H20%3 169 100. 0 100. 0
64 e AT H5%16 170 100. 0 100. 0
65 T BAR4LT H100%4 173 100. 0 100. 0
66 L HI1T H50%3 156 100. 0 100. 0
67 TeAE A6 T H20%22 164 100. 0 100. 0
68 T ME1TT H366%T 81 100. 0 100.0
69 d=gES MELTT H292% 344 88 100. 0 100. 0
70 T INE3T H1124%2 115 100. 0 100.0
71 TeAE JNES3 T H103%:26 102 100. 0 100. 0
72 T INE3T H1041%5 88 100. 0 100.0
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%ﬁfi& JH 3 i1 X i 7 FEHE | 3F0 6 EEEI w7 EEE‘I
& X5y (1) EIES EIES
73 T INE4T H1096%4 100 100. 0 100.0
74 e 4T H165%3 120 100. 0 100. 0
75 T NE2T H106%& 114+ 113 100. 0 100.0
76 Leff =R T H 1655 137 100. 0 100. 0
77 e —HEP2T H53%2 133 100. 0 100. 0
78 L SR T H61%E2 131 100. 0 100. 0
79 L —HREm2T HeTE24: 135 100. 0 100. 0
80 SLaEs =R T H35%24 153 100. 0 100. 0
81 LefE: Bprh b2 T H28% 14+ 119 100. 0 100. 0
82 E=gEs b T B 4172 128 100. 0 100. 0
83 ek FrE6T H10%E115 160 100. 0 100. 0
84 Wl s T H14%T 136 100. 0 100. 0
85 ek +NE3T H221%7 56 100. 0 100. 0
86 e P = [E4 T H8&ET 161 100. 0 100. 0
87 ek +NG2T B5THRA 158 100. 0 100. 0
88 e +\%3T HT3%5 121 100. 0 100. 0
89 ek +NE1T H190%6 132 100. 0 100. 0
90 LA +\&1T H8%HS4H 116 100. 0 100. 0
91 d=gES HEE6T B8 201 100. 0 100. 0
92 LA HEEST H15%14 202 100. 0 100. 0
93 TeAE WEE4T H14%9 179 100. 0 100. 0
94 LA RE[EAT H 20544 172 100. 0 100. 0
95 e P = E1T B 72 177 100. 0 100. 0
96 e WEELIT H17E 149 100. 0 100. 0
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97 WefF: W=E3T H18% 134 100. 0 100. 0
98 WF PE=E4T H93%19 126 100. 0 100.0
99 T PE=E4T H215%6 116 100. 0 100. 0
100 SLaEs WZ[E2T H25%5 161 100. 0 100. 0
101 LefE: HW=EE2T H13%5 165 100. 0 100.0
102 SLaEs WZE2T H4%20 176 100. 0 100. 0
103 LefE: W=EE1T H4E 17 196 100. 0 100.0
104 SLaEs WZE1ITH17%E16 170 100. 0 100. 0
105 LefE: WEELT H28%19 168 100. 0 100.0
106 SLaEs ‘wIH2T B 12%3 347 100. 0 100. 0
107 LefE: EIFE1T H3%ET 390 100. 0 100.0
108 SLaEs =IR1T B 12310 189 100. 0 100. 0
109 LefE: EIR1T H8&4 464 100. 0 100.0
110 e ZEARNTLT H16%23 170 100. 0 100. 0
111 LefE: ZEARRT2T B41%2 152 100. 0 100.0
112 e = [EAHRT3T H59% 169 100. 0 100. 0
113 W FEEJH3T H61%2 177 100. 0 100. 0
114 T AL T B 28%2 108 100. 0 100. 0
115 iRES P E 1T H13%23 264 100. 0 100. 0
116 BHE 1T B9 494 100.0 100. 0
117 iRES 1T B11%20 245 100.0 100.0
118 B v E2 T H143%16 286 100. 0 100.0
119 inEs ANHAT B3 259 100. 0 100. 0
120 BHE AJNHLT H33%ES 214 100. 0 100. 0
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121 inEs +=H1TH17E16 298 100.0 100.0
122 CixES +=H1TH17%10 228 100. 0 100. 0
123 iEs + = ARET3T H 1037 122 100.0 100.0
124 B +=ZARET3T H1%9 212 100. 0 100.0
125 inEs + = ABI3T H39% 24+ 120 100. 0 100. 0
126 B + =ZRET2T H29%3 170 100. 0 100.0
127 DFE HALEF 1T H15%&2740 196 100. 0 100. 0
128 B +=e4 H3 T H56%10 175 100. 0 100. 0
129 DFE +=5c45E1T H8%6 188 100. 0 100. 0
130 B BARAT BH3E1744 207 100. 0 100.0
131 DFE BA2T 6320 197 100.0 100.0
132 B BARLT H94%5 192 100. 0 100. 0
133 DFE BA2T B17%13 182 100. 0 100.0
134 B ME1TT H330%4 142 100. 0 100. 0
135 DFE INE3T H105%4 136 100. 0 100. 0
136 B —“HREmM2 T H29%22 154 100. 0 100. 0
137 {FiRES 6T H31%18 178 100. 0 100. 0
138 BHE AT H28%& 144 185 100.0 100. 0
139 (RS Fr=3T H508%5 191 100. 0 100.0
140 B ZEETR27 vy 72 165 100.0 100. 0
141 iEs 7 =[E1T B 13%&64t 197 100. 0 100. 0
142 B WEES T H143%11 218 100.0 100.0
143 inEs W EE6 T H 1% 104t 290 100. 0 100. 0
144 B WEES T HTEL0 291 100.0 100.0
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145 inEs WEE4T H143%18 233 100.0 100.0
146 CixES CEGRNERE: A 214 100. 0 100. 0
147 iEs HE6 T H57%8 340 100. 0 100.0
148 B FEE LT H5%6 404 100. 0 100.0
149 DFE SEARNT2T H12%2 228 100. 0 100. 0
150 B WEELT H30%2 226 100. 0 100.0
151 inEs H=[E1T H27%S8 245 100. 0 100. 0
152 B ‘EIRLT H2%35 433 100. 0 100. 0
153 inEs +=H4T B 1%20 138 100. 0 100. 0
154 KT + =545 H3T H8%E34 86 100. 0 100. 0
155 KL H)I2T A 284+ 92 100. 0 100. 0
156 KL 3T B80T 241 62 100. 0 100. 0
157 KL g2 T H2%&55k 85 100. 0 100.0
158 KT Hrms T H21%E24h 66 100. 0 100. 0
159 KL \43T B 1427%34+ 66 100. 0 100. 0
160 /L Brhpg2 T H26% 144 101 100. 0 100. 0
161 /T HIAE2 T B 183 14+ 103 100. 0 100. 0
162 /N T HIN3T H18%12 68 100. 0 100. 0
163 /N “HEmM1T 3% 114 100. 0 100. 0
164 /T —HEER3T H14%4 100 100. 0 100.0
165 /N —HEF3IT H10%2 114 100. 0 100. 0
166 /T NE4T H1336%F 14+ 89 100. 0 100.0
167 /T —HRAbe T H29% 144 105 100. 0 100. 0
168 /T —“EREF1IT H14%6 127 100. 0 100.0
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169 N T HrE2 T B463%F65k 100 100.0 100. 0
170 /N T HrEl T H28% 130 100. 0 100. 0
171 N T HrE 1T B3%F 104k 116 100.0 100. 0
172 N T grepdb1 T H 45 105 100. 0 100.0
173 /N T =EATITHILES 121 100.0 100.0
174 /T +J\5:3T H203%34+ 76 100. 0 100.0
175 /N T W= [E3T H351%4 53 100.0 100.0
176 /T ZEARRT2T B2975%2 164 100. 0 100.0
177 /N T Vs 2T H 9% 244 148 100. 0 100. 0
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